

Sumar Enteros (B)

Emplee una estrategia de enteros para encontrar cada respuesta.

$$(-44) + (+12) =$$

$$(-59) + (-13) =$$

$$(-83) + (+41) =$$

$$(-97) + (-1) =$$

$$(+15) + (+40) =$$

$$(+53) + (-67) =$$

$$(-25) + (-63) =$$

$$(+2) + (+24) =$$

$$(+29) + (+12) =$$

$$(+12) + (+78) =$$

$$(+49) + (-79) =$$

$$(+38) + (-79) =$$

$$(-39) + (-42) =$$

$$(+27) + (-21) =$$

$$(-54) + (-19) =$$

$$(-93) + (-29) =$$

$$(+1) + (-11) =$$

$$(+75) + (+95) =$$

$$(+35) + (-60) =$$

$$(-96) + (+14) =$$

$$(+84) + (+49) =$$

$$(+85) + (-73) =$$

$$(-20) + (-26) =$$

$$(+64) + (+74) =$$

$$(+17) + (+52) =$$

$$(-32) + (-87) =$$

$$(-52) + (+90) =$$

$$(-33) + (-28) =$$

$$(-46) + (+52) =$$

$$(+26) + (-87) =$$

Sumar Enteros (B) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

$$\begin{aligned}(-44) + (+12) &= \\ &= (-32)\end{aligned}$$

$$\begin{aligned}(-59) + (-13) &= \\ &= (-72)\end{aligned}$$

$$\begin{aligned}(-83) + (+41) &= \\ &= (-42)\end{aligned}$$

$$\begin{aligned}(-97) + (-1) &= \\ &= (-98)\end{aligned}$$

$$\begin{aligned}(+15) + (+40) &= \\ &= (+55)\end{aligned}$$

$$\begin{aligned}(+53) + (-67) &= \\ &= (-14)\end{aligned}$$

$$\begin{aligned}(-25) + (-63) &= \\ &= (-88)\end{aligned}$$

$$\begin{aligned}(+2) + (+24) &= \\ &= (+26)\end{aligned}$$

$$\begin{aligned}(+29) + (+12) &= \\ &= (+41)\end{aligned}$$

$$\begin{aligned}(+12) + (+78) &= \\ &= (+90)\end{aligned}$$

$$\begin{aligned}(+49) + (-79) &= \\ &= (-30)\end{aligned}$$

$$\begin{aligned}(+38) + (-79) &= \\ &= (-41)\end{aligned}$$

$$\begin{aligned}(-39) + (-42) &= \\ &= (-81)\end{aligned}$$

$$\begin{aligned}(+27) + (-21) &= \\ &= (+6)\end{aligned}$$

$$\begin{aligned}(-54) + (-19) &= \\ &= (-73)\end{aligned}$$

$$\begin{aligned}(-93) + (-29) &= \\ &= (-122)\end{aligned}$$

$$\begin{aligned}(+1) + (-11) &= \\ &= (-10)\end{aligned}$$

$$\begin{aligned}(+75) + (+95) &= \\ &= (+170)\end{aligned}$$

$$\begin{aligned}(+35) + (-60) &= \\ &= (-25)\end{aligned}$$

$$\begin{aligned}(-96) + (+14) &= \\ &= (-82)\end{aligned}$$

$$\begin{aligned}(+84) + (+49) &= \\ &= (+133)\end{aligned}$$

$$\begin{aligned}(+85) + (-73) &= \\ &= (+12)\end{aligned}$$

$$\begin{aligned}(-20) + (-26) &= \\ &= (-46)\end{aligned}$$

$$\begin{aligned}(+64) + (+74) &= \\ &= (+138)\end{aligned}$$

$$\begin{aligned}(+17) + (+52) &= \\ &= (+69)\end{aligned}$$

$$\begin{aligned}(-32) + (-87) &= \\ &= (-119)\end{aligned}$$

$$\begin{aligned}(-52) + (+90) &= \\ &= (+38)\end{aligned}$$

$$\begin{aligned}(-33) + (-28) &= \\ &= (-61)\end{aligned}$$

$$\begin{aligned}(-46) + (+52) &= \\ &= (+6)\end{aligned}$$

$$\begin{aligned}(+26) + (-87) &= \\ &= (-61)\end{aligned}$$